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Find the slope given the two points using the slope formula

1) (2,-7) and (-1,6)

Slope = G

2) (-3,3)and(7,6)

Slope = ‘

3) (-1,—-9) and (5,-6)

Slope = D

4) (—4,9) and (-5,8)

Slope = D

5y (8,~3)and (-7,-1)

Slope = D

6) (—5,3)and (2,6)

Slope = D

Find the slope of the line given the table. (also using the slope formula)

1 " v '2.
-2 3
-1 5
0 7
1 9
2 11
.| x y
0 3
1 5.5
2 8
3 105
4 13

Ty M x Ty “ T Ty
3 | 5 1| -17 % | -4
2 | 2 2 | -13 5 | -9
-1 | -1 3 | -9 -4 | -14
o | -4 4 | -5 -3 | -19
1 | -7 5 | - -2 | -24
X y 7.0 x y
-2 | 5 -2 | 2
-1 | 475 5
0 45 -1 4
1 4.25 5
2 | 4 o | &
5
1 8
5




Ms. Frost Solving Systems of Linear Equations
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Solving Systems of Equatidns by Substitution
1)y=2x-15 6)-8x + 7y = 10
y = 5x 9y =-18
2)y=%x+3 7)y=-3x-3
y=-3 y=-3
3) 7x + 4y = 24 8)y=2x-1
4x =16 y =-6
_7 _2
4)y—§x-5 9)y=3x-1
y=-5 y=3
5)3x+2y=-15 10) -5x - 5y =0
2x =-18 y = 8x
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